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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–VII (DLM) • EXAMINATION – SUMMER • 2014 

Subject Code: 350905 Date: 17-06-2014 

Subject Name: Energy Conservation Techniques 

Time: 02:30 pm - 05:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

 

Q.1 (a) Explain scope for energy conservation in industrial sector, transport sector, 

agriculture sector and electrical power sector. 

07 

 (b) Explain use of electronic control in industrial drives for conservation of 

energy. 

07 

    
Q.2 (a) The equipment in a power station costs Rs 15, 60,000 and has a salvage value 

of Rs 60,000 at the end of 25 years. Determine the depreciated value of the 

equipment at the end of 20 years using (i) Straight line method and (ii) 

Sinking fund method at 5% compound interest annually. 

07 

 (b) Explain elements of energy management. 07 

  OR  

 (b) Explain energy conservation in the area of illumination. 07 

    
Q.3 (a) Explain energy efficient motor in detail. 07 

 (b) Explain energy conservation by demand side management. 07 

  OR  

Q.3 (a) Write short note on – PAM motor. 07 

 (b) The load on an installation is 800 kW, 0·8 lagging p.f. which works for 3000 

hours per annum. The tariff is Rs 100 per kVA plus 20 paise per kWh. If the 

power factor is improved to 0·9 lagging by means of loss-free capacitors 

costing Rs 60 per kVAR, calculate the annual saving effected. Take 10% per 

annum for interest and depreciation on capacitors. 

07 

    
Q.4 (a) List and explain various major areas through which performance of existing 

power plant can be improved.  

07 

 (b) Explain advantages and disadvantages of co-generation. 07 

  OR  

Q. 4 (a) Explain use of combined cycle power plant for energy conservation point of 

view with its advantages. 

07 

 (b) Explain the remedial actions to reduce transmission losses in power system. 07 

    
Q.5 (a) Explain preliminary energy audit in detail. 07 

 (b) Explain the procedure of energy audit for 3 phase induction motor. 07 

  OR  

Q.5 (a) Compare preliminary energy audit with detailed energy audit. 07 

 (b) Explain sinking fund method for determining the annual depreciation charges. 07 
 

************ 

ગજુરાતી 
પ્રશ્ન. ૧ અ ઔદ્યોગગક ક્ષેતે્ર, લાશન વ્મલશાય ક્ષેતે્ર, કૃ્રષ઴ ક્ષેતે્ર અને ઇરેક્ટ્રીકર ઩ાલય  ક્ષેતે્ર ૦૭ 
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એનજી ના વયંક્ષણ ની ળક્યતાઓ વભજાલો.  
 બ ઔદ્યોગગક ડ્રાઇલભા ં  એનજી ના વયંક્ષણ ભાટે ઇરેક્ટ્રોનીક કંરોર નો ઉ઩મોગ 

વભજાલો.   
૦૭ 

    
પ્રશ્ન. ૨ અ એક ઩ાલય સ્ટેળનના વાધનોની કીંભત 15, 60,000 રૂ. છે અને 25 લ઴ષ ના 

લ઩યાળને અંતે તેની (બગંાયની) કીંભત 60,000 રૂ. છે. તો 20 લ઴ષ ના લ઩યાળ  
઩છી આ વાધનોની ડેપ્રીળેમેટેડ  કીંભત (i) સ્રેટ રાઇન ભેથડ અને (ii) ષવિંકકિંગ  
પંડ ભેથડ થી લાષ઴િક 5% ના દયે ચક્રવ્રદુ્ધિ વ્માજની ગણતયી પ્રભાણે ળોધો.   

૦૭ 

 બ એનજી ભેનેજભેન્ટ ના તત્લો વભજાલો.  ૦૭ 

  અથવા  

 બ ઇલ્યષુભનેળન ( પ્રકાળ વ્મલસ્થા) ના ક્ષેત્ર ભા ંએનજી વયંક્ષણ વભજાલો.  ૦૭ 

    
પ્રશ્ન. ૩ અ એનજી એપીષળમન્ટ ભોટય ષલસ્તાય થી વભજાલો.  ૦૭ 

 બ કડભાન્ડ વાઇડ ભેનેજભેન્ટ લડે  એનજી વયંક્ષણ વભજાલો. ૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ ટૂંક નોંધ રખો – PAM  ભોટય. ૦૭ 

 બ 0·8 રેગીંગ ઩ાલય પેક્ટ્ટય લા઱ા 800 kW નો રોડ 3000 કરાક પ્રષત લ઴ષ લ઩યામ 
છે. ઇરેકરીવીટી ફીરની ટેયીપ રૂ. 100 per kVA + 20 ઩ૈવા પ્રષત kWh છે. રોવ 
ફ્રી કે઩ેવીટય કે જેની કીંભત 60 પ્રષત  kVAR છે, તેની ભદદ થી ઩ાલય પેક્ટ્ટય ને 
જો 0·9 રેગીંગ જેટરો સધુાયલાભા ંઆલે તો ફીરભા ંથતી લાષ઴િક ફચત ળોધો. 
કે઩ેવીટય ભાટે વ્માજ અને ડેપ્રીળીમેળન નો દય લાષ઴િક 10% રો.  

૦૭ 

    
પ્રશ્ન. ૪ અ કામષયત (existing) ઩ાલય પ્રાન્ટ ના ઩યપોભષન્વ ના સધુાયા ભાટેના જુદા જુદા 

ક્ષેત્ર ની માદી ફનાલો અને વભજાલો.  
૦૭ 

 બ કો-જનયેળન ના પામદા અને ગેયપામદા વભજાલો.  ૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ કમ્ફાઇન વામકર ઩ાલય પ્રાન્ટ નો ઉ઩મોગ એનજી વયંક્ષણ ના દ્ર્ ષ્ટટગફિંદુ થી 
વભજાલો અને તેના પામદા વભજાલો.  

૦૭ 

 બ ઩ાલય ષવસ્ટભ ભા ં રાન્વષભળન રોષવવ ઘટાડલાના ઉ઩ામો વભજાલો. ૦૭ 

    
   

 

 

 

 

 

 
પ્રશ્ન. ૫ અ પ્રાથષભક એનજી ઑકડટ ષલગતલાય વભજાલો.   ૦૭ 

 બ ૩ પ્રાલસ્થા ઇન્ડકળન ભોટય ના એનજી ઑકડટ ની ઩િષત વભજાલો.  ૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ પ્રાથષભક એનજી ઑકડટ અને ડીટેઇર એનજી ઑકડટ ની વયખાભણી કયો. ૦૭ 

 બ  એન્યઅુર ડેપ્રીળીમેળન ચાર્જ ળોધલા ભાટેની ષવિંકકિંગ  પંડ ભેથડ વભજાલો.  ૦૭ 

************ 


